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                                                       Sarja ottelut        Cup ottelut       Maalit         Kaikki ottelut

# Nimi A + V = Yht. A + V = Yht. S C Yht. A + V = Yht.

1. Antti Autio 19 + 0 = 19 3 + 0 = 3 3 1 4 22 + 0 = 22

2. Kimmo Tuomi 16 + 2 = 18 2 + 1 = 3 2 1 3 18 + 3 = 21

3. Jani Ikonen 18 + 0 = 18 2 + 0 = 2 0 0 0 20 + 0 = 20

4. Antti Liesjärvi 17 + 0 = 17 3 + 0 = 3 1 0 1 20 + 0 = 20

5. Johannes Kettunen 16 + 1 = 17 1 + 1 = 2 14 4 18 17 + 2 = 19

6. Jarno Helkamo 15 + 1 = 16 2 + 0 = 2 3 4 7 17 + 1 = 18

7. Artturi Kettunen 15 + 0 = 15 1 + 1 = 2 3 0 3 16 + 1 = 17

8. Lauri Saarikoski 12 + 1 = 13 3 + 0 = 3 4 1 5 15 + 1 = 16

9. Mikko Savolainen 14 + 0 = 14 1 + 0 = 1 0 0 0 15 + 0 = 15

10. Mikko Sorsakivi 12 + 1 = 13 2 + 0 = 2 0 0 0 14 + 1 = 15

11. Jyri Brunou 6 + 7 = 13 2 + 0 = 2 10 0 10 8 + 7 = 15

12. Toni Karlsson 6 + 7 = 13 0 + 0 = 0 1 0 1 6 + 7 = 13

13. Toni Räisänen 10 + 2 = 12 0 + 0 = 0 2 0 2 10 + 2 = 12

14. Joona Tiira 9 + 1 = 10 1 + 1 = 2 4 1 5 10 + 2 = 12

15. Janne Kettunen 7 + 5 = 12 0 + 0 = 0 1 0 1 7 + 5 = 12

16. Riku Saastamoinen 4 + 5 = 9 2 + 0 = 2 0 0 0 6 + 5 = 11

17. Samuli Komulainen 7 + 2 = 9 1 + 0 = 1 0 0 0 8 + 2 = 10

18. Miikka Kärkkäinen 6 + 4 = 10 0 + 0 = 0 0 0 0 6 + 4 = 10

19. Tero Tainio 9 + 0 = 9 0 + 0 = 0 1 0 1 9 + 0 = 9

20. Juho Kunttu 4 + 1 = 5 3 + 0 = 3 0 0 0 7 + 1 = 8

21. Mikko Honkanen 7 + 0 = 7 0 + 0 = 0 2 0 2 7 + 0 = 7

22. JereHännikäinen 4 + 1 = 5 2 + 0 = 2 0 0 0 6 + 1 = 7

23. Tero Auvinen 1 + 5 = 6 0 + 0 = 0 0 0 0 1 + 5 = 6

24. Mika Rajala 1 + 2 = 3 1 + 1 = 2 0 1 1 2 + 3 = 5

25. Jan Vesterinen 4 + 0 = 4 0 + 0 = 0 0 0 0 4 + 0 = 4

26. Antti Konkari 2 + 2 = 4 0 + 0 = 0 0 0 0 2 + 2 = 4

27. Teemu Turpeinen 1 + 1 = 2 1 + 1 = 2 0 0 0 2 + 2 = 4

28. Jari-Pekka Immonen 0 + 3 = 3 0 + 0 = 0 0 0 0 0 + 3 = 3

29. Toni Porko 0 + 3 = 3 0 + 0 = 0 0 0 0 0 + 3 = 3

30. Johannes Bussian 0 + 1 = 1 0 + 0 = 0 0 0 0 0 + 1 = 1

31. Ilpo Suomela 0 + 1 = 1 0 + 0 = 0 0 0 0 0 + 1 = 1

32. Tuomas Kyytsönen 0 + 1 = 1 0 + 0 = 0 0 0 0 0 + 1 = 1

33. Mikko Lempinen 0 + 1 = 1 0 + 0 = 0 0 0 0 0 + 1 = 1


